2022/ R =R — MR EE AR ABELRN GERTHREX)

1. R
HEAA={x-2<x<0}, B={-2, -1, 0, 1, 2}, WANB= ( )
A. [-2 -1} B. {-20} C. {'1’O}D. {-2,-10}

2. IBFERR
TREB RN B ( )

1
Al+itgititc 1-ip (1-D?

3. B
THRE+H, RTRBEAGFEZHERR ( )

2
A y=x"+xpY=logx o y=27-3p V73

4. BB

PATINE PR TR FFER, BN =5 m=3 ) NP % T« )
[F]

r ':fﬁ.}'. FLH‘J_ ..

T

k=1, p=1

[+

p=p{n-m=+k) =i+l

* '

-

)r'
i

A:3B/12 C. 60 D. 360

5O IEEE

3 b3
Mgy O TP gk FEA =AW ()
A FEATIRBBEEM B LETIFFAEA
C. FEAMBBEAE D. BER TS P B A

6. IEFERR
=R = REFTR, FREEERANEES, BRKBERNKEAN ( )




